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ASSAMESE
(MODERN INDIAN LANGUAGE)

Full Marks : 100
Pass Marks : 30

Time : Three hours

' The figures in the margin indicate full marks
- Jor the questions.

marks each B = 10

Q. No. 1 carries 5 :
Q. No. 2 carries 4 marks each dclii= o
0. No. 3 carries 2 marks each 2x7 =14
Q. No. 4 carries 1 mark each - 1x7 = 7
Q. No., 5 carries 4 marks (any one) gal =l
Q. No. 6 carries 3 marks each 3x2 = 6
Q. No. 7 carries 2 marks each - 2x5 =10
Q. No. 8 carries 1 mark each 1x5 = 5
Q. No. 9 carries I mark each T xd = 2
Q. No. 10 carries 2 marks each 240 = 4.
Q. No. 11 carries 4 marks each 4x1 = 4
Q. No. 12 carries 7 marks each =<1l =7
Q. No. 13 carries 1 ﬁlarjk each  1x5= 5
Q. No. 14 carries 2 marks each x4 = 8
0. No. 15 carﬁes_.lo marks each ~ 10x1 =10
: ’ ' ' Total =100 .
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SECTION A

(Reading Skill : 10 Mdrks)

Read the following passage carefully :

Today’s woman is a highly self-directed person,
alive to the sense of'her dignity and the importance
of her functions in the private domestic domain and
the public domain of the world of work. Women are

. rational in approach, careful in handling situation

and want to do things as best as possible. The Fourth

World Conference of Women held in Beijing in
September 1995 had emphasised that no enduring
solution of society’s most threatening social,
_econo‘m_.ic and political problems could be found
without the participation and empowerment of the
women. The 1995 World Summit for Social
Development had also emphasised the pivotal role
of women in.eradicatirigl poverty and mending the
social fabric.

‘The Constitution of India had conferred on
women equal rights and opportunities — political,
social, educational and of employment — with men.

Because of oppressive traditions, superstitions,

exploitation and. corruption, a majority of women

are not allowed to enjoy the rights and opportunities,

CUTENGL - [2]

97T ENGL ' L]

bestowed on them. One of the major reasons for

. this state of affairs is the lack of literacy and

awareness among women. Education is the main
instrument through which we can narrow down the

prevailing inequality and accelerate the process of

economic and political change in the status of

Wwomen.

The role of women in a society is very important.
Women’s education is the key to a better life in the
future. A recent World Bank study says that
educ_at-ing girls is not a charity, it is good economics .
and if developing nations are to eradicate poverty,
they must educate the girls. The report says that
the economic and social returns on investment in .,
education of the girls considerably affect the human
development index of the nation. Society would
progress only if the status of women is rcspected'
and the presence of an educated woman in the family

~would ensure education of the family itself.

Education and empowerment of women are closely

related.

On the basis of your relad_in_g_ of the passagc

answer the following questions: -

(a) Mention some of the qualities of today’s women.

PR 'Cpntd.



(Advanced Writing Skills

(b) Where was the Fourth World conference of
women held and what did it emphasise ?

' L+ 1=2

(c) What factors prevent a majorily of women [rom

enjoying their rights and opportunities? - 2

(d) What can cducation do for the cause of women ?

i

() What is the observation of World Bank on girl

education ? ' : 2
SECTION B

25 Marks)

Design a poster for the World-Environment Day
creating awarceness among the people about the
threats of environment degradation. (Maximum 50
words) . ' 5

" OR

You are Binod/Secema, the Cultural Secretary of St.

Anthony’s College, Guwahati. Draft a notice, in not

more than 50 W_Qrds, fdr_thc notice board informing
the students about the “Inter-College Song and

‘Dance Competition” that your institution is going

to organise. = 5

27T ENGL o i
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You reccently visited some flood-affected arcas of

Dhémaji District. As a press reporter of an English
Daily write a report on the flood situation in
100-125 words. You are Amar/Nitu. 10

'OR

You are Gopal/Anita of Govt. Higher Secondary
School, Karimganj. Your school has organized a
Blood Dohati'on 'Carﬁp on the occasion of its Golden
Jubilee Celebrations. Write a report in 100-125
words as an editor for your school magazine, on

this widely acclaimed activity. _ o

Write a letter to the editor of an English Daily
drawing the attention of the authorities concerned
to the menacce of reckless driving in your town. You

are M'u_ku]_;’AyCSh_a._ : : i 10
CR

You are Rita/Gourav. You have seen an .
advertisement for the post of a Sales Exe-cuti:vc_ in a
reputed company. Write an application to the
Régional Director . of .the Co_mpany in response to

the advertisement applying for the post. e

) Cont_d.



- SECTION C

(Grammar i 20 Marks)

Change the form of narration in the following

sentences : _ ; IxD=4

(a) The boy said to the teacher, “Sir-, I am weak in
" English and seek your advice.” “Read the text
thoroughly and try to express your ideas in

- simple correct English,” said the teacher.

(b) My friend told me that he was very thirsty and
| requested me to give him a glass of water.

Change the voice of any three of the following
‘sentences .. . ' ! piBx1=3

(a) 'F.ootball.is playcd everywhere.. :
(b) Do the Wérk immediately. |

| kC) Who _Open‘ed th’e'.door.?. |

(d) I ha_ve lost my book.

(e) The.c_da(:h_is 'i;fai'nilug e p'.layel_"s'..

() Who has broken the window pane ?

STTENGL. L o

“fa] - Recently the price of pelrol

- (d) 1 wish my brother

(g) This paper

Rewrite any five of the following sentences using
the verbs given in brackets in their correct tense
fOrmls 9T e nt S ALY 5x1=5

(g0) up.

Bl el 1ot ol work today.

(c) The train
station.

(leave) before we rcached the

(be) here.

(e) As he

(cross) the road a bus knocked him
down. b
(f). I (think) of going abroad for quite

sometime.

(appear) lwice a week.

Rewrite any four of the following.'sentcr}cf_:s filling

in the blanks with appropriate prepositions :

drlod
fa) 1 oamet him _ the road.
(b) 1 congratulate you ____ your success.
27T ENGL | e Contd.



'(c) John was annoyed _____ his moﬁher.

(d) The work should be finished next Friday.

your story.

(e)' We are not interested

(f) He was frightened the noise.

9, Rewrite any four of the sentences as dirccted v
| 4%1=4

(a) The Brahmaputra is the longest river in India.

(Change it into positive degree)

(b) Everybody wishes to be happy.
' (Make it interrogative)

(c) Only Ram was present there.
(Make it negative without changing the meaning)

(d) He desired that I should go there.
(Make it a simple sentence)

(e) He is so lazy that he cannot shine in life.
(Make it a simple sentence)

(fi Having done his work he left the place.
' (Make it a compound sentence)

27T ENGL s _ [8]

SECTION D

{Text books 45 Marks) |

10. Read one of the following extracts and answer the -

Que_stions that follow :

| (a) “The little old house was out with a |
little new shed

In front at the edge of the road =
where the traffic sped,
A roadside stand that too pathetically pled,

It would not be fair to say for a dole
of bread,

But for some of the money, the cash
' whose flow supports

~ The flower of cities from sinking and |
: withering faint.”

‘Questions :
i) - Where was the shed put up? el
(ii) What was its purpose ? | A 1

(iii) Why does the poet use the word ‘pathetic’? '
: 1
(iv) Who are referred to as ‘“the flower of cities’?

27T ENGL . =] 2 “-_'-Contdj.



(b)

OR

“Those who prepare green wars,
Wars with gas, wars Wﬁth fire;
Victory with no Suh}ivors,

and walk aboﬁt with their brothers

in the Shade, doing nothing.”

- Questions :

T) What are the different kinds of wars

27T ENGL

mentioned by the poet in the passage ?

1

(i) What kind of victory do they achieve ?

(iii) Who are the brothers mentioned in the

stanza ? _ 1

(iv) Find words in the given stanza that mean’

‘those left alive’ and Swin’. o .. | 1

(101

11. Ans_Wer any three of the following questions in

30-40 words: L £ EL B xDo6
(i) How is a thing of beauty a joy forever ?

(ii) Why does the poet Neruda ‘wish to count to

twelve’ ?
(iii) What do the young sprinting trees signify ?
(iv)] What are being sold in the Road-side stand ?

(v) What is the ‘Childish longing’ that the poet

refers to ? Why is it ‘in vain’?

(vi) Why has the mother been compared to the ‘late

winter’s moon’?

12. Answer any five of the following que-stio'ns:
| ' - 5x1=5
(a) What was written in the new copies brought by
M. Hamel for the students in a beautiful round

hand ?

GPLENGE o o SR e | Contd.



(b)

(c)

(d)

(e)

(9)

13. .Answer any _fwe of the followmg questions in 30-40

words : 5><2 10
(a) Why did Franz det to spend his day out of '
doors o '
{b) Why did M. Hamel not blame Franz alonc for .
his inability to learn ? ;
1]

27T ENGL

What does the ‘garbage’ mean for the clders of

Seemapuri ?
Where does Mukesh live ?

Where did John Rowntrec and his family make

their first home at Gauhati ?

Whom did Gandhi and Shukla want to meet at

Patna ?
Who is Geoff ?

Which was the only occasion when Sophie got

to seec Danny Casey in person ?

(d)
(e)
(0

(9)

14. Answer any one
80-100 WordS:

.(a).

(b)

27T ENGL

What is the significance of banglers in an Indian
society ? :

What does Rowntree say about the river banks

- in the Manas Sanctuary ?

What was the incident that~prdi‘npted Gandhi
to raise his voice of protest against the British ?

‘What are the other options that Sophie dreams

of besides owning a boutique ?

What job is Geoff engaged in ? Does he entertain

~ wild and impractical dreams like his sister

does ?

of thc following ques‘uons in
1><5 %)

Dcscrlbc Lhc unusual things that Fran/ noticed

-on the day of the last lesson.

OR

Descnbe thc—: miserable phght of thc people of
Fer/dbad

e Contd



OR ' (c) Why and how did Derry enter Mr. Lamb’s
' : garden ?

{c) Describe the, exploitation of the indigo
~ sharecroppers by the English landlords. Did
Gandhi help them to get an honourable end ?
settlement ? :

(d) Why does Derry go back to Mr. Lamb in the

(e} When did Bama experience untouchability ?

15. Answer any one of the following questioris in

. () What was Zitkala’s idea regarding short,
125-150 words : _ 1 x7=7 : :

shingled hair ?

Why is Antarctica the place to go, to understand the
earth’s present, past and future ?

OR
Bama’s experience is that of a victim of the caste |
system. What kind of discrimination does Zitkala-

B 1
Sa’s experience depict ? What are their responses to r
their respective situations ? '

16. Answei‘ any four of the following questions in
30-40 words: P =

(a) . What did the chief asti'ologer predict about the
Tiger King ? :

_ ..(b). What is Gondwana ?






1.  Answer any five of the followihg :

(a)

(®)
(c)

(d)
(e
0

GROUP — A
(VIBGYOR)
(NEW SYLLABUS)

What is the full name of the verger in the short story by the

same name ?
Where does the verger work ?

For how long, during Narayan’s ownership of the car, was

the airconditioner switched on ?
What does an automobile mean to Narayan ?

Who Iis_the author of the story, ’The Scarecrow’ ?

Whom did Mriganko Babu’s father call in to find the lost

- watch ?

(g)

10
Q)

G

- D7F ALTE _

What is the full name of Jim in the story, ‘The Gift of the

Magi’ ?
How much_ used Jim to earn earlier ?

What is the name of the American poet ph]losopher whose
work Robert Lynd has read ?

Whom does Lynd want to conduct the laborious quest for

- wisdom ?

£2]

1XS=5.

2.  Answer any fz’vé of the folll_ow_ing :

(a)
(b)
(©
(d)

@©
®

8)

(1)
(1)
()

- 3. Answer any three of the folIdWing :

(a)

(b)

. ._ |

(d)

27T ALTE

2x5=10
Wha.f was the discovery that _e;_stonished_ the vicar ?
What was the vergef told by the vicar in the Véstfy?

What made Nar’aya_ﬁ fear, he woula sbqn become bankrupt ?

Who fell on Narayan’s car when it was parked in front of the
hospital ? . '

Why did Mriganko Babu go to Durgapur ?
Who was Abhiram ?

Who were the Magi ?

‘What did Jim do to get a gift for Della ?

In what context does Lyn'd mention Solomon ?

Who is Zeus ?

4x3=12

Narrate the circumstances ru_:ndei‘ which the verger had to lose
his job at St. Peter’s. '

Why, do you thmk the author, R.K. Narayan, regards hlmself
as a. fanat1c in the context of walkmg i

What happened to Abhiram. after he Ieft :Mriganko Babu ?

Show how the twist in the tale makes the story of ]1m and

Della a moral Iesson

[3] Contd,



(e) Why does Robert Lynd end his essay with the phrase, “it was
only a dream” ? '

Explain with reference to the context any two of the following :

4x2=8

{4

(a) "“He's bcen nagging them he’as,” said the verger to himself.
() 1 lack automobile sensibility and do not regret it.

(c) Mriganko Babu tried very hard but failed to remember. Yet,
" he felt sure that he had seen someone wear such a shirt, a
long time ago.

dy) Della finished her cry and attended to her cheeks with the
powder rag. She stood by the window and looked out dully
at a grey cat walking a grey fence in a grey backyard.

Answer any five of the following : 1x5=5

(@) Who is the fair lady the narrator speaks of in Toru Dutt’s
poem ? i

(b)) Where lare the three happy children ?
: (¢) What bird skims over the Eroék ?
(d) What flowers grolw by the -brbok for ﬁappy lovers ?
(e) Where does the traveller in Shelly"s poem come from ?

(f)’  Which country is referred to as an antique land ?

(¢) Who are the opening lines of ‘La Belle Dame Sans Merci’
addressed to ?

27T ALTE [4]

~(h) Whom did the knight meet ?

(1) . What témpted the village girl to tarry ?

(j) What is it that might smite the village girl ?

Answer any four of the following : e 2x4=8

(1) Name the birds and animals mentioned in Toru Dutt’s poem.

(b) What is a brook ?

(c) What did the traveller come upon in the desert ?

(d) What did the lady give to the knight at Arms 2

(e) | ‘What are the shadows of the evening Cbmpared to in ‘Village-
Song’ ? ' '

Answer any three of the following : . 4

(a) How are the children affected by the mother’s song ?

(b) Describe the journey of the brook till it reaches Philip’s farm.

(c) What do the ”wrihkled lip and sneer Of_ cold command”

signi,fy. ?

(d) .Attempt- a description of the dream that the knight has in the

cave.

27T ALTE ' i [5] - . Contd.



(¢) Briefly describe the fears of the village maiden.

8. Explain with reference to the context on any omne of the following :
Oxl=5

(a) 1 chatter over stony ways,
In [ittle sharps and trebles.
~ I bubble into eddying bays,
I babble on the pebbles.

() The hand that mock’d them and the heart that fed.
(c) And this is why I sojourn here,
Alone and palely loitering,
Though the sedge has wither’'d from the Lake

And no birds sing.

GROUP — B
(VIBGYOR & EFFUSIONS)

(NEW & OLD SYLLABUS)

9. Change any five of the following sentences as per the directions

given in brackets without changing their me_ah_i_ng : 1x5=5

(a) Only corrupt people are protesting against demonetization.

(Change into negative) .'

SHALE L e

(b)
(c)
(d)
(e) |

0
()
)

10. Add tag qu'esti.ons to any five of the following sentences :

(@)
)
(c)
(@)
(e)
l

- 27T ALTE

L :

Is there any nation in the world that is not taking notice of

India today ? | _ (Change into affirmative)

The nation is taking big strides to turn digital.

(Change into interrogative)

I left my phone behind at your. place.

(Change into interrogative)

Who does not know that the sun shines in the East?
' (Change into affirmative)

She is known to me. : ' (Change into active)
‘He placed the book on the table. (Change into passz've)
Wé_sn’t Kothanodi a unique film ? (Change into asserfive)

1x5=b
The new five hundred ru.pee note is smaller than the old one,
Your house faces the river,

We will go for the movie toge-mer,

' They are going to Gangtok on an excursion,

Rome was not built in a _day,'

Our winters are very pleasant,

[7] Py Contd.



11.

L () I had just a few coins left _

12.

(g9 You will show me your new bike,

(h) Your computer hasn’t crashed,

Fill in any five of the blanks in the sentences given below with

suitable prepositions :

(@) Abird ______ hand is erth two in the bush.

(b)) Seeing the lion, the leopard ran th;z tree.

(c) The rangers drove the i‘hino' the enclosure.

(d) 1 have left your watch the drawer.

(e) Who stole the cookie the cookie jar ?
(H He dived - the swimming pobl.
. _my pocket.

(h) The grocer"s shop is juSt two blocks the road.

Rewrite any five of the following sentences using the verbs given-

in brackets in their correct forms : 1x5=5
W el (commute) by bus every day
(b) By the time the police arrived, the thief ________ (flee)

() _Re'liance el e .

SAltE 8D

1x5=5

(offer) free services upto April next year: '

13.

27T ALTE

iy Wel L

(d) Jayalalitha —___ (pass) away in December

(¢) The harder he _____ (try) the better he gets
(go) to Shimla last winter

(gl o

(h) We ______ (hunt) high and low for a foot to fit the slipper.

(snow) heavily when we got there

Read the passage given below and answer the questions that

follow :

The mountains that clustered around Bafert were mauve and grey
in the dim morning light, striped and patterned with deep purple
and black in the valleys, where it was still night. The sky was

~magpnificent, black in the West where the last stars quivered, jade

green aboVe'me, fading to the palest kingfisher blue at the eastern

rim of hills. I leant on the wall of the verandah where a great web

of bougainvillaea had grown, like a carelessly flung cloak of brick-

red flowers, and looked down the long flight of steps to the road

" Dbelow, and beyond it to the Fon’s courtyard. Down the road, from

both directions, came a steady stream of people, lla_ughing”and
talking and beating on small drums when the mood took them.

Over their shoulders were Long wooden poles, and tied to these

- with creepers were .big conical bundles of dried grass. The children

trotted along carrying smaller bundles of their saplings. They made
their way down past the arched opening into the Fon’s courtyard

and deposited their grass in heaps under the trees by the side of

[9] _ Contd.



the road. Then they went through the arch in to the couftyard and

there they stood about in chattering groups ; occasionally a flute

and a drum would make up a brief melody, and then some of the

crowd would break into a shuffling dance, amid handclaps and

cries of delight from the on-lookers. They were a happy, excited,

eager throng.

(a)
()
(c)
(@)
(e)

14. Answer any five of the following :

@

)
(0

27T ALTE

What is the name of the place .being described ? l
' Ati:empt é description of the sky. : 2
What are the colours mentioned in the piece ? | 4
Whére is the author and What is he doing ? : >
What were the people carrying on their shoulders ? 2
Describe the scene in the Fon's -;:ourtyard. . | o

GROUP — C

(EFFUSIONS)

(OLD SYLLABUS)

1x5=5

Who is it who once said that most statesmen are rogues ?

What does Narayan lack but-does not regret ?

In which city was the Workshop Narayan had to take his car
to 7.

[10]

27T ALTE

(d)

(e)
(f)

(g)
(h)
(i)
)

Answer any five of the following :

(a)

(b)

©

()

()

What does Narayan propose to turn his energies to after

locking away his car ?

Who has Nehru’s temporary discharge done good to ?

At what time of the day is Nehru writing his letter to the
Mahatma ?

What did Nehru’s intellectual apparatus refuse to admit?
What, according to Forster, is a stiffen_i_ng_process?
Who placos Brutus in the lowest circle of Hell ?

Which Chinese phﬂosopher of the 6th Century BC preceded

Confucius ?
2x5=10

With what do military heroes appcal to and dazzle their

contemporaries ?

What do those philosophers believe in who suggest the third

test of who is a great m;ir}?

How did the new car affect the behaviour of Narayan’ sl driver ?
: Why 'does.Narayan believe his pOSSGSSion o.f. a:car .t.o be an
ana_chr'onism ? _

Hof& does Narayan | generaﬂy avoid engagements and

invitations ?

e Contd.



(&)

Why did Nehru wish that all newspapers mlght be kept away

from him ?

What, according to Nehru, seems to be the overmastering

~ desire of the Working Committee ?

(h)

0

16. Answer any three of the following :

(a)
®

e
(d)

(e

Why does Forster feel the need te _formulate a creed of one’s

own ?

- What must tolerance, good temper and sympathy do, and

' why ?

What was the the result of the domestication of the horse in
Western Asia in the days of the Sumerians ?

4x3=12
What are Lord Rosebery’s views on Nepoleon’s greatness ?

Why was Narayan afraid he woul_d_ reach the brink of_
bankruptCy ?

What happened to Nehru when he heard that the civil

disobedience movement h_ad been called off ?

Examine the reasons behind Forster’ .g'iving two cheers for

~democracy.

What does Russel have to say on the utilization of natural

~ forces by the scientific technique ?

ZAP ALTE

[12]

17. Explain with reference to the contcxt any two of the following :

(a)
(b)
(c)

(@)

18. Answer .an'y five of the following :

(@)
(b)
(c)
(d)
(e)
(H)

(g)
(h)

27T ALTE

4x2=8§

Carlyle was, of course, particular in definining his test of
sincerity in precise terms, and in doing so he warned his
readers by defining what his idea of sincerity was.

It is this philosophy that leaves me indifferent to the mention
of any petrol “hike”. '

Here is something comparatively sohd in a world full of
violence and cruelty.

There was less change in methods of work from ancient Egypt
to 1750 than there has been from 1750 to the present day.

1x5=5

What is the man harrowing ?

What will cloud into the night before -thei:'r_ stories die ?

What is it that winds about the blue mountains ?

What does Pound compare the parting of old friends to ?

What, according to Pound, is like a floating white cloud ?

How many children are there in the darkened room in Toru
Dutt’s poem ? '

What is. the colour of' .the waving grain in the forest in Sita 2
What is it that will remam when all else is gone according to

the rickshaw wallah ?

'_[1.3] e o Contd.



19. Answer any four of the following : - 2x4=8 21. Explain with reference to the context any one of the following :
: 5x1=5
(1) What is the horse doing in Hardy’s poem ?

' PR Fhe . (1) Yonder a maid and her wight
(b)) What is meant by Hardy when he says, ‘Yet this will go

onward the same/though Dynasties pass.” ? Came whisparing by

(c) Describe the place where the friends part in Pound’s poem. (b) Sunset like the parting of old acquaintances
| (d) What will the friends have to do after the parting ? : | Who bow over their clasped hands at a distance
- (¢) What are the birds and animals that one sees in Toru Dutt's (c) When shall those children by their mother’s side
poem ? ' ' | :

Gather, ah me ! as erst at eventide ?

O‘) What is the reaction of the three young chlldren when they
hear the story of Slta ?

(¢) In what colours are the rickshaw wallah’s arms and legs
‘literate” ? :

(h) Whatis it that is tattooed in the arms and legs of the rlck&,haw <
wallah ? '
20. Answer any three of the following : fis el . 4x3=12

(a) Bring out the significance iof.the tit]e of Hardy’s poem'

() Crltlcally examine the series of p1ctures that Pound’s poem .
offers.

(c)" Describe after Toru _Dutt the forest where Sita dwells.

~ (d) Attempt an analysis of the central idea of the poem, ‘Rickshaw-
wallah.

27T ALTE e Plag | - 27T ALTE [15]
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1.

Answer the following questions :

were fral el pes Tew fml

Fill in the blanks :

T 31 =gl = 2

(@) Name the first secondary school in Assam.
S 2 g R A )

(b) . University is the first open university in India.
iRyl Clreae ey Y& R |
(c) International Womens' Day is observed on

e fos 91 g —ﬁ%ﬁrﬂﬁﬁwaﬁTiw|

(dj Attention paid by students to study at the time of exammauon :

is e attention.

@;39@ﬁﬁ<?mﬂ“‘ﬁmﬁ¢“ﬁmﬂﬁﬁ1Wﬂﬁmﬁ

A
(e} Treatment of mental diseases is the
mental hygiene. 2

- AR e wwbe TR

function of

el

() Satisfaction and practice are basic factors in
method of teaching. ' 5

ﬂ%ﬁiﬁm$?ﬁﬁﬁﬁﬁﬁﬁﬁﬁ - _ 2wleT 3[ET oAl |

Give short answer in one sentence :

G5y FA© 5y Ced 73 &

(g) Mention one characteristic which dlStll’lgl.IIthb Non formdl
- Education’ from ‘Formal Education’.

_@ﬁm@@mwﬁWﬁaﬁWWWmﬁﬁ¢ﬁWﬁwmn

- () Objectives of Environmental Education wcre stermmcd in

conference.

R PR S wﬁmwﬁzfmwzz@—m*

27T EDUC Wl

%1212

5. Write two important characteristics of correspondence education.,

27T EDUC ' 18]

(i) Write a common characteristic of maturation and learning.
s(fRoigel S sy Bl Sreal Ay Fran
() Why recognition is easier than recall ?
Helers eefifess fon ARE? ' .
- (k) What is Mean ? In .d distribution £fX =1480 and N = 50, find

out the Mean of the distribution.
o 7 G SIFRFT f X = 1480 B N = 501%@@&%%@%

() Which is lhe positional measure- of u_,ntral tendency ?

@ 2RISR I 5 (&I (B! 2

2. What do you mean by ECCE‘?_ Ale : S G Al

ECCE I f& 32

3.I What were the sugdeqtmns forwardcd by Mudaliar Commission

regarding ‘Development of Vocational Ffflcwncy as. aim of
secondary education ? 2

| Sl Freee o ol Sfere @rel R ﬂﬂﬁﬁﬁé@ﬁﬁ%ﬂaﬁm@WﬁaﬂamMV
g & e 2

4. Why ‘Non-formal hducatmn is’ consmlcred as a supportwc qybtcm

of education ? el
wpromsifos e o < SRR e e o ﬁmﬂ =

Or/@i‘%ﬂ

‘Distance Education is a flexible system of education’ — .explain.

R O T e g — R0 0

3 2 )
il e ﬁﬁﬁﬁﬁ?i{?ﬁﬁﬁ]ﬁ%ﬁt

6. What is Population Education ? e o )

gt o 52

- Coni_‘d'.



based on democratic principles’

7. What is conditi .
- oned response? Whi '
se i ; ch g _
response in Pavloy's experiment on condltlo‘glelllsg ?thc condl’;loiu,g o her Rl D
TR affeEm fe (rosTen Gl Jit 4 — Diseuss, | - 4
wiifeet 2 SRR AT Wﬂ?ﬂ%@ efofemt ome -
| <gaelslfes ﬁrﬁl 6{61“(@125 e 9oTe Eﬂ%]%\o‘ — @1@115&{ ?P"@H
8. Describe the tw :
O part .
e %P s of ‘Law of exercise’ of learning.  1+1=2 '16. What is physical education ? DlSU.lSS three measures to impart
&l Sl 757 I - Physical Education in school. 1+3=4
9. R
. Forgcmng Is a blessing' — explain this statcment i <R st e ﬁvmm“*n%‘@as Byest s (A5 A5 I ST
o - _ | 167 What is value > D1scuss bneﬂv the 1mp0rtance of value educa‘uorl
- What is ideational attention ? Give an example : ~ . in present society. - o 1+3=4
ORISR . - e : Y+1=2 = y : <
- Wﬁ?am“%ms AT =52 @Bl Suigge foa 3 | TR e TG TG A K ST T S ST G 4 |
about four important areas within the scope of

Or/w%r i Y e i e 18. Discuss
Enwronmental Educatxon ' ; 4

‘*"”"43@“1 iﬁﬁﬁﬁ AR W— BIRUY. W GRERRIClR Wl

:“"“‘Wﬁ”@wwmqﬁwmww --

i1 IWnte
. two dements of Mode as a measure of central tendenc Or/iﬁi'?liﬁ
: o
'@@ﬂ ZRTOR C@T’J 1351'@ ?‘W EfT rspiﬁ 7o Cel What do you mean by “Women Empowerment’ ? Write three
> Wh 1 ]%N“ e o B 1mportant_ objectives of ‘Women Empowerment’. 1+3=4
at is' the SR e ; : : . ' :
Preventwe func‘uon of mental hyglene ? ' o TR e e & et AR SRR G g STy %F_lﬂl
lalles 5'@13@‘;@ AT B e - B W BEOE s
13 wh ralre 3 : '19. What is learning by insight? Mention two limitations of this
at is Quartlle Deviation? In g distribution 0, 78 43 : e ey mcthod ()f learrnng ' 2+2.. 4
1= . Find OUt the Quartile DCVlatlon Tileo - = @‘W*ﬁﬁ Cﬂ'ﬁ"ﬁﬁ et {2 ﬁ‘i’%‘ﬁ kﬂ?l ”Eﬁi%i@ﬁ fw ANRES! @@;M a8
b“\:e% ﬁgﬁl o7 @ f?j—mm - bR |
Afm == QS =78.43 SIF Q) =6144 vels Rpifs, 20. Distinguish between true memory and habn memory. 4
14. Write jOur - | UAFS S S ST ol Aere A ‘?ﬁ@“ Cﬁg?m
rovi
| provisions of ‘Assam Sewndary Educa‘uon Act, 1961’ ’
i _ i 21. Descnbe Jour ob]c,ctwe COIldlthl’lb of attentlon 4
S IR WEH 1961'-1 wﬁﬁrw f%mn S o ':mmﬁa wz%ﬁ‘ra@ﬁ% S 2

27TEDUC - 14] - | _ B
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22,

23.

24,

or /&%

“Attention and interest are two sides of thc, same coin” — cxplam
the statement. 4

Wﬁwwmmﬁrw@% — T A

What is frequency ? What are the different parts of a frequency
distribution table? 1+3=4

AR R wwwﬁ@m@%aﬁ#ﬁmwwmﬁsﬁw

What is a bar dlagram ? What are its types? — Explain with
- example (draw). - . 143=4
mfﬁ* 1%93&@1%?31 Wﬂﬁgﬁsﬁw —»W@[ AZ G 91 (b7 si) |
- or /we
Draw a histogram from the foﬂomng dlstnbutmn table (use graph)
4
ool Reies eifFsia 2= ﬂﬁW@WW(@ﬂﬁ—aﬁmmﬁaﬁﬁa)
' Class-Interval Frequency
caifﬁwm B S E )

50-55 - e

45-49 G

40-44 : 10

35-39 : 12

30-34 e : 8

25-29 - )

Discuss the suggestions of Kotharl Comrmssmn regardmg aims Of

~secondary education. - : 6

egfirs Rw o7 STic oo Sics %ﬁmmmmaw
- or/uz T
Discuss about the suggestlons of Natlonal I*Jducdtlon Pohcy, 1986

regardmg secondary education. 6

i i Ties TS RS, 1986-9 AR AR ST < |

2TTEDUC -~ A G

25. What is learning ? Mention four rhajor characteristics of learning.
i | : 2+4=6
feppel 0 frmor 5190 2w Caf®y e w1
| Or / 9241
What are the primary laws of learning ? Discuss the application of
any one of those laws in the class-room situation. 3+3=6
e elefic TS @201 & & @ AR aﬂ?ﬁﬁ‘?—ﬂ{:ﬁ ﬁfz’anwwﬁ‘w
SR AT ?Snc ol Wl
26. What do you mean by mental health ? What are the characteristics
of a mentally healthy person? — Discuss. 1+5=6
PR e quﬁmﬁswmwxmﬁarmw @Wﬂaﬁﬁqﬂqq%%?
— G([CAB T4
27.- What is Median ? Compute Median from the,fo'llowing.tablelz g
a0 : _ ee
sl @ oo el o[ S ef e 2
Class-Interval Frequency
M RIRSREI FEETS
55-59 1
50-54 1
45-49 _ 3
40-44 4
35-39 6
30-34 . . i
25-29° | 12
gl 6
15-19 .- i -
10-14 2
N=50
® <
97TEDUC ~ ]
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for the questions.

Part A (3 -3igs)

Q. No. 1 (a-f) carries 1 mark cach
Q. No. 2- 7 carries 2 marks each
Q. No._8~i2 carries 4 marks each
Q. No. 13 & 14 carries 6 marks each’

Part B (< -o1%4)

Q. No. 15 (a-f) carries 1 mark each
Q. No. 16 -21 carries 2 marks each
Q. No. 22-26 carries 4 marks each
Q. No. 27 & 28 carries 6 marks each

Total (Part A & B):

1x6 = 6
%6 =13
4x5 =20
6x2 =12

" Total =50

1x6= 6
2x6 =12
4x5 =20
EXD =T

Total = _50'
50+50=100;
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TS AT PO RIS Bo Yot AR T 2
() IR IEE W (RSt TR A T gEa Ay
(i) CIS T oW s g '

PART-A /< - %[l

{ Contemporary World Politics )

TN [4 Fefe e bRl ' ' >

( oy ) (ili) NTEOF TG FAOR SN #Af5a8+

o - _ _  (iv) W UGS FG |

1. Answer the following as dirccted : : ol G (i) ' : : _ ;
 wee WarRiEs o ST T fory: ' : 2. Write two differences between migrants and refugees. 2

(a) Write the full form of NIEO. LTINS = e 57 A1 o

NIEO ¥ 71“91‘1{7&791@1 o ' : : 3. In which year the World Bank was created ? Mention any one
(b) What do you mean by'.Unipolar World ? : j | activity of World Bank ' 1+1=2
G BB ﬁag* iﬁqcﬂ f.ﬁs:g\'gﬂ o : : . Tl B (i Be® kD t2fes1 ¢ 2R R @bl W Tz 4
(C) Rio 'summit approved a developmental programme named as I 4. When and where was the f_irs.t'NAM summit held ? 1+1=2
‘Agenda-21’. (Write ‘yes’ or ‘no’) AN (91D Frers siraems AFeE @ fon ois % ‘31-1@\'3 (.Qir%*i ?
R AT FREPE-LS’ T G Cgeiers doiehe SHEIvE Gmigfe | e _ ' ; Paiky o
. (30 @ = ) 5. In which year was Kyoto Protocol signed ? The Protocol dealt w;th
S : ' _ - which problem of the environment ? tl-2
(d) In which year did India start its economic rcform ? : : . B Iff\_:‘" RO 5AS e '(.‘QfQT*{ b ﬁl@\ﬁ VH%Z??‘W (?FW?BT S s WFF
- : b @Tﬁgﬁ ? .
WW@@%W%WWW@%M? - ' bl o - : - - _.
e) Thcro . numbcr st oermam Sic mcmbcrs e ; 6. What arc the fwo military alliances signed by the USA and Soviet
. Sééurity Council of UNO. by & BB She blank) Union With their respective friendly Lountrlc,cs during Cold \?lJf;" .
@@W\mmmﬂﬁw.—@ﬁwmi (ﬂﬁiﬁf?ﬁq@n". - '%WWWWWWWFGWQWW@

[RaAoRV st G’W AT pfe 7307 A 5 2
- () Which among the following is NOT an outu)mc of ‘the : Sl
disintegration of Soviet Union ? g ; 7. Mentlon two major areas _of influence of European Union. 2

@R T AR 757 AN (FE SeE 4|

(i} End of the idecological war between USA and Soviet Union

(i) Birth of CIS- > B8R : g What is common but differentiated respon"sibility ? Discuss briefly.

- {uir) Change in the balance ‘of power in the world order o s % e - ' o 4
: | Alie o Tozel S5 FJARIFS WEES! Wiw [ 2 5 SCED 4 |
(iv) Crisis in the Middle East _ PJRPIFS FEAS] M R 2 b gl

27T POST ' 18 | : - Contd.
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9. Why did big powers need to hcwc alliance with smaller countrlcs "
Write four reasons. ; _ 4
92 *Ifew AW T e mw:a[fes s ﬁfm 2T 2 w@'z?f FEE f%wn |
10. Discuss briefly aboul restructuring and the future of the United
Na‘uons ‘Organisation. : i 4
QIEFAER a0 S SRS T BT Sl all
11. Discuss briefly a.bout the recent relationship between India and
Pakistan. s 4
SRS I AT ST ST e R SIS < |
12. What is the rclationship between human  security and health ?
Discuss. : . ' : 4
MK FRieie W% FigE e AE & o SEce @4 |
13. What is ASEAN ? Discuss the _t'hree’ pillars of ASEAN. - 1+5=6
iR (ASEAN) R 2 wifiane w8 (RGN Rl ScsAl 1
OR /w34t b
Discuss the role and 11mltat1(m€ of bAARC as a forum of regional
coopcratlon e 440=6
wnieefEr mmzﬂw uﬂ}%ﬂ Epicet g (SAARC) 3 \gﬁm e ST A
41|
14. Why did Sovict Union disintegrate ? Discﬂss_claboratcly. 6
(afeeb T R wesl Cafest @ Rt Sisis <t | :
! OR / @12 |
Discuss US hegemony as hard power. Do you think that US
: hegcmony is good for the World ? Give justification., 4+2=6
"G‘%W‘ifﬁlﬁfﬁ‘? SCHE] JGG Sl{Ee1e) Sl = l@Kﬂﬁ?ﬁT?{\iﬁT@”‘# sy
R @ o I el ¢ Pegewe )

27T .P_OSC Z ' [4]

PART-B/<- i<
( Politics in India since Independence)

(WS S AN )

15. Answer the following as directed : : » (iolx6=6 :

wets fraicaiaa o s Te forai -

.(a) Panchsheel principle was jointly declared by Indian Prime

Minister ____ and Chinese Premier Zhou Enlai.

(Fill in the blank)
oleeeT o SlReH 2@ S B R 5 < =TI PO
el SRl (T IR = 0)

(b) In which year era of coalition government started in centre ?

(I B 2l (TS W61 BT ol ST zfeet v
(c) In which state Navnirman movement took place ?

@ e Fasie S ARabe (el 2

{d) In the first General Election of 1952, election. was held
simultancously for Lok Sabha and . (President/State

_ chislat-i\}c Assembly/Rajyva Sabha/Prime Minister) _
Lk, (Choose the correct one)
S Hd ﬁ?f‘iﬁi el ﬁmb-« IS TS TSR i B (3iEife/

qifere ﬁeﬂr{ See /GRSl AdesE! ﬁﬁﬂb—»{ oD Zﬁf@n |
(9% TER! a@%ﬁ-{\em) _

(e Wnt(, one f(,aturc of New Economic Pohcy of Ind1a

GRS B siltafes Tifea @b s e

(f)- At present ‘which institution has replaced Planning Cdmmision
in India?
TE TS SRS sife S ﬂ“«ﬂﬁ! @ﬂ‘-@‘l Srﬁéﬂ ﬁfﬁ gl
T ?
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18,

W

18.

19.

20.

21

22.

23.

24.

What is Narmada Bachao Movement9 Who was the leader of this
movement ? | 1+1=2

Tl Ave SR & 2 g% SiewERs 99 @mdﬁ il

When was the State Reorgdmsauon Act passed ? Name any one
state created under this Act.

Gy e AN 2 |

Who introduced Twenty Point Programmc in India ? Why was it
introduced ? 1+1=2

WWWWWW?@W%&WWW?

Write two causes of the emergence of communalism in India. 2

WWW@WWW 'Ezﬁmﬁq %wm

Write two reasons responsible .for growing 1mportancc of regional
political parties in Indian Politics. 2

WW%@W%&@WW o3 Jfas E(ETW"H%MH _

When was Election Comrmssmn in India formed9 Who was thc

' first Chief Election Commissioner of Indla’D 1+1=2:
©ied b Wﬂm‘ﬂ feA! o157 11 C2few ¢ SIROT ALARIP z{ﬂnﬁ?ﬁﬁﬂmﬂ@
I onifesT ? ' =
Discuss briefly the result of (xreen Revolu’clon m India. 4

WmﬁWWwWWJ |

Do you think that anti- arrack movement is a women movement ?
Justify your answer. 4

wmﬁm?ﬁwmmmm%wqﬁ Wﬂ%?ﬁ'\“ﬂmﬁw
Ffegeel W ' '

Discuss briefly about the initiatives taken by Janata Government,
TSl DI 22l 91 SOHIPTES B SCEG 34 |

WReSE - f6]

1+1=2
Ry oJFReTN SE (e 4% W TafeET 7 R wiEwe wifiwe iR @[l R

- e ..

25,

26,

2T,

28.

~early years of India’s independence.

‘What were the consequence of fourth General Election of 1967 ?

Discuss briefly. . 4
Sova 5] 59 AYe i werernR & iR 2 b3 Seen = |
Mention any four regional political parties of India. 4

) BIUK ﬁm@ bIfR5! wief ﬂer@u\w e AN T 9 |

How far pl&mnmg is relevant in Lhc era of globahsalton ? Discuss.
o

Rtz gore ARE R e

OR /9941

DiSCLlSS the main controversies around planned dcvclopmcnt in
3+3=6

wires FTTOR TgEire WWWW@WWWWW-
w4 |

Discuss the regional movements of North East India. What are the
reasons of these movements in this area ? 4+2=6

Te-oj1 TRES ST SCHIETT SEb 51 | G2 SISO GG SCHIET w_
(AR e TR B 2 _

OR/war
Discuss claborately about the Kashmir problem. 6
SN TP Il Rl SeEIBA 5 |
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